1 (a) nucleotides  (b, c) adenine, guanine  (d) G-C  (e) A-T  (f) phobic;  (g) hyperchromic

2 (a) F  (b) T  (c) F  (d) T  (e) T  (f) F  (g) T  (h) T  (i) F  (j) F  (k) T  (l) T  (m)  F

3 A

4 D

5 D

6 E

7 C

8 B

9 A

10 D; remember, 1,000 base = 2,000 bases.

11 Two populations of bacteriophage T2 (bacterial virus) were radioactively labeled. The DNA of one batch was labeled with 32P, and the proteins of a second batch were labeled with 35S.  The bacteriophage particles were then allowed to infect separate suspensions of E. coli, and the infected cells were collected and analyzed for the presence of radioactivity. Only the E. coli that were exposed to 32P-labeled bacteriophage had associated radioactivity indicating that the 32P labeled DNA had been transferred from the viral particles. 35S, associated only with protein molecules, was not found in the infected E. coli cells. New viral particles were made in both suspensions of E. coli, but only the DNA associated label was transferred to the infected bacteria; this strongly suggested that DNA was the source of the genetic information.

12 The rule stating that all DNA, regardless of the species, contains equal numbers of adenosine and thymidine residues (A-T) and that the number of guanosine residues equals the number of cytidine residues (G-C), suggested specific pairing between the bases. Watson and crick’s double-stranded structure, with A always H-bonding with T, and C always H-bonding with G, provides the molecular basis for the rule.
13 Spontaneous deamination of cytosine to uracil is relatively common—about 100 events per mammalian cell per day, Uracil is recognized as incorrect in DNA, and is removed by a repair system. If DNA normally contained uracil instead of thymine (as does RNA), recognition of these deamination mistakes would be more difficult. Unrepaired uracils would pair with adenine during replication, leading to permanent base-sequence changes (mutations). 
